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o Set out work clearly.
» Show all working when required.

e (Calculators may be used.

Name: - Class:
St George Girls High School
Year 9
Commeon Test 1
May 2006
Mathematics
Advanced Course
Time Allowed: 75 minutes
Section A /15
Section B /77
Question 1 /19
Question 2 /18
- Question 3 /19
Question 4 /21
Total /92

Part A
15 marks
Answers only in the Answer Column
Question Answer
1. Expand and simplify (5x+ 4)(5x —4)
9. TFactorise 16x+12y
3.  Simplify 5y
1
8 \3
4. Find the value of (——)
27
5. Write in scientific notation:
a) 930000 b) 0.000572
6. Chémge 99km/h to metres per second.
.
7.  Find the perimeter of:
Sem

Gem
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Part A (cont’d)

Question Answer

8.  The circumference of a circle is 25cm. Find the length
of the diameter correct to the nearest millimetre.

Find the area of AABC:

j2cm

om0

A Fem 8

10. If m=-3 evaluate 7—4m

11. The length of a parcel is given as 28.7cm correct to
1 decimal place. What is the lowest value that the
actual width could have?

12. How many metres in x centimetres?

13. Graph x>?2 on the number line.

14. How many mm® in 2.72cm’® %, 1 000
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PartB
Q i Marks
uestion 1 (19 marks) — Show all working
h 4
a) Exzpand and simplify:
e 2 _
G (ex+5)(5x-2) @) (3x—1). —4x(x—2)
o
2 2
b) Find mand n given that x°—20x+m= (x- n)
{9
4

c) Factorise:

® ~10%% ~15x* @i

Shuame

3x(x+ 7)+ 6(x+7)
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Question 1 (cont'd)

d) Simplify:

e)

=1

o 25 o (%)

Solve forx: 27 1x4*x81=16

Marks

2 2
(iii) 12%° y'4 +£__)_3x

dxy
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Question 2 (18 marks) — Show all working Marks
a) Arrangein ascending order: 1
3.02x10%, 635x10%, 6.1x107"
[
-2

b) Write 0.003572 in scientific notation correct to 2 significant figutes.

c) A leaking tap loses one drop of water every 8 seconds. If each drop contains 2mL
4

of water

(i) Express the rate of water loss in L/h. ;

i1l be lost in one year.

(i) Calculate the number of kilolitres of water that w
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Question 2 (cont'd) Marks

d) Georgie’s car used 54L of petrol in travelling 570km. Helen’s car used 41L of petrol
for a journey of 413km. Whose car was the most economical in terms of petrol

consumption? Give a reason for your decision. 2
=5 —4
e) Find the value of 1’ 2:43x10 +3'ﬂ x10 , giving your answer in scientific
4,73x10
notation, correct to 3 significant figures. 2
( ) Bendrove 200km at an average speed of 80km/h and then drove 60km at an average
speed of 90km/h. 4

(i) How long, in hours and minutes, did the whole trip take?

(i) What was Ben’s average speed for the whole trip?
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Question 2 (cont'd)4 Marks
3

g) If the exchange rate between US and Australian currency is $US0.75/$41.00.

(i) How much US currency will Tara get when she exchanges $4450?

(i) How much Australian currency will Adam get when he exchanges $US600?
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Question 3 (19 marks) - Show all working Marks
a) Find the perimeter of the following shapes: ‘ 6
, as, i, Am
@ = (i) (i)
&m Itm
20m Fm
0 F3cm 3
-
ISm
b) Calculate the area of each of the following shapes: 7
. [, o ISem
@ T (ii) (iif)
bem ¢
1 Y 1Sem

ik

| 2em

o —— =
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Question 3 (cont'd) Marks
AP . 8
C) 7 3
X
) T @ c

ABCDisa parallel'o'gram AB =12cm; BC =7cm, PQ L
I£ XY = 10cm find the length of P& )

d) A circle has an area of 100cm?. Find the length of its circumference, in centimetres,

correct to 2 decimal places.

DC, XY L AD.

3
(3
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Question 4 (24 marks) — Show all working
a) Solve the following equations:

- x4+l x-2
FrL A2
@ 3 =

@Git) 5y -2By -3)=4{y+7)

’::) Make x the subject of the formula.

@ y=7-3x

() x*+19=100

Marks
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Question 4 (cont'd)

c) Solve and graph the solution on a number line

d) Find all positive integers which satisfy 13-2x23

e

End of Paper

) A rectangle is Scm longer than it is wide. Its perimeter is 86cm. Write an equation
and solve it to find the dimensions of the rectangle.
( x

Marks

Sx+14>9 3

4

H

<
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Instructions:

* Setout work clearly.

o 'Show all working when requited.
e Calculators may be used.

Class:

Section A ' /15
Section B /77
Question 1 /19
Question 2 /18
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Part A

15 marks
Answers only in the Answer Column

.-
Question
1, Expand and simplify (5x+4)(5x—4)

-

2. TFactorise 16x+12y

]
3.  Simplify 5y 5 x

\

[0,

)

1 3

4. Find the value of ( 8 )3 E ( L
. i — = —
27 3*

5. Writein scientific notation:

a) 930000 b)  0.000572

6. Change 99km/h to metres per second.
G Ay o000

\ D600

7. Find the perimeter of: IXS*9

Aem

L A

- ——

Answer

26x* ~ 16

Ll'(‘rii—%\/)

w|P

5 Adx10°

-4
by §70x 10

1.7 Sw /s

2brem

Gem
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Part A (cont’d)
Question Answer
8. The circumference of a circle is 25cm. Find the length
of the diameter correct to the nearest millimetre.
L5=2.0
g-0 (n
27-9% . .
0 7' 9 - 8 O vim
9. Find the area of AABC:
' T
pem A 7712 42 e
10. If m=-3 evaluate 7-4m Co
7 - by 19
27+ (XS
11. The length of a parcel is given as 28.7cm correct to
1 decimal place. What is the lowest value that the
actual width could have? L9:65cm
12. How many metres in x centimetres? x
oo
13. Graph x>2 on the number line.
- o—p—1
-t 0 1 a 3 4
14. How many mm’ in 2.72cm’ %7, 1 00O . ,
L7270 w w?
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Part B

Question 1 (14 marks) — Show all working
a) Expand and simplify:

@ (2x+5)(5x—2)
= Joat-bx +L5x - 10

= lOox" +1VL ~10

@ G- 1).2 —4x(x—2)

(aa'-n 11) = x+ B

o 1k +1

"

2
b) Find mand 7 given that %2 —20x+m=(x- n)

lL—LOu + ™M

In =20

n-= 10
————

¢) Factorise:

@ -10%°-15x>
. -Gx” (2&( + 3)

k™
2o T- InX +n

(iD) 3x(x+7)+ 6(x+7)
= Ge)( 6)

= 3 (D (1

Marks
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Question 1 (cont'd) Marks
d) Simplify: 6
N (9T 3x2)
0 = (i) (75] @ 126%™ J—"—SL
x 4xy

)= (n=?)
d

§
?

Solve forx: 2% x4*x g1=16

lx-lk(ll)x x()f )-u

®x-1 FTR -3

xlu>Ll- =
-~
'b{ -‘S"x‘l
x Fai-q uY
3 = l:E x X >
= Iéxt‘ﬂ
>
3
4
= 4
4
= X
Yo~k = L E‘-l\.uXL |v.(1/\&-ul
yx= §
x: £
>
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Question 2 (18 marks) — Show all working

7) Arrange in ascending order: 1
3.02x10%, 635x107%, 6.1x107
-2 -1 =
655 x10 G.lx10 ", 3.0L x 10
b) Write 0.0Q3572 in scientific notation correct to 2 significant figures. . Q
-3

3.6 x 10

c) A leaking tap loses one drop of water every 8 seconds. If each drop contains 2mL
4

of water
(i) Express the rate of water loss in L/h. (
tml ‘)w g yeeonds - ' ‘
Iml P& g yeont>-
[ m L (i 1 pannnXe
doowl ¢ | o = 1 L/l’\

that will be lost in one year.

[:x'sss”-z,s’l

(i) Calculate the number of kilolitres of water
« 9 x 14 x V6 s
I B - £
[§1-1=)

7‘gg¢f kL L);'(’ i 7‘3’3‘1‘!’

(!/V \1Lv.
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Question 2 (cont'd)

Marks

d) Georgie’s car used 54L of petrol in travelling 570km. Helen’s car used 41L of petrol

for a journey of 413km. Whose car was the most economical in terms of petrol
consumption? Give a reason for your decision. :

G oo : C o Helen
Li L (k/l-rl)ka

q.-927 L (~ to“«(;'“'”)

2

A 474 L g looke

- G"-O\K\U/,: Cor MWadve 2lomumund ‘50 gt o-9% L/{ga&-._,

-5 —4
Find the value of \/E 43x107 +3.21x10 , giving your answer in scientific

4.73x1072
notation, correct to 3 significant figures. 2
g.54 xi10” "
Ben drove 200km at an average speed of 80km/h and then drove 60km at an average
4

speed of 90km/h.

(i) How long, in hours and minutes, did the whole trip take?

T= 22 i+ &°
go a0
= ny v}
- 3 k 10 WAl ;
(if) What was Ben’s average speed for the whole trip?
S = keo |
Hh 10w~

= gt k=/h
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Question 2 (cont'd)’

g) If the exchange rate between US and Australian currency is $US0.75/$41.00.

(i) How much US currency will Tara get when she exchanges $A450?
450 x 0.75= $us 337.90

ency will Adam get when he exchanges $US600?
$A goo

(i) How much Australian curr

Gov = 07 =

Marks




*
St George Girls High School

Year 9 — Common Test 1~ Mathematics — 2006 Page 9
Question 3 (19 marks) - Show all working Marks
a) Find the perimeter of the following shapes: , 6
: s, . b
) g @ (i) :
. Em l{-rn
20m m .
o I 3
F+3em % (723 ﬂ\; )
[Sm 4= s
= P= Lx13+ JU e Ly D
@ Z.(I.S +20) = Qx4+ 1+ S
- q Ow = 6 O M SC fany . 'L‘o -
C \ d‘* . ‘7 I‘) -
b) Calculate the area of each of the following shapes: - 7
: iSem
(iii)
ISem
+
) 3em
A-':. l §x )Sr
- Gx6
= \®4 C“\‘.’%

SALUTIONS
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Question 3 (cont'd) Marks
A_P X 8
c) oY re 3
s X
D Q c

ABCDisa parallelogram AB = 12cm, BC =7em, PQ LDC, XY LAD.
I£ XY = 10cm find the length of PR :

Ovee po0. © 7x 10
:70(,-»-1' ’
. DCxPQ = 79
. 20
fQ £
pa= s5c~ (59)

d) A circle has an area of 100cm?®. Find the length of its circumference, in centimetres,
correct to 2 decimal places.

100= Tt M C=mh
- , )
. ('L L_O _
P ﬁ- C = ﬂ_x ?_x\/‘.;%"’
(= l’;\p = 'LO»/T‘:
- 38.49
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Question 4 (24 marks) — Show all working
a)  Solve the following equations:

S0y + 3=V = 1553
Gyurs + In-6= k<

$ 56
. 13
-x {

@) Sy-2@By-3)= 4y +7)

5\3—62)-1'6.: (h;:) + 18
-y +6 :.[-ra.g.-').x

"’S&'—" pA
-2

S

b) Make x the subject of the formula.

@O y=7-3x

-Y

S =7y
x= 7=
Y

(i) **+19=100
x-%1=0

(-«4)(a+ 4)=o

x=-1,9

~
&
~r

o
~
H

Marks

St George Girls High School
Year 9 — Common Test 1 — Mathematics — 2006

Page 12

Question 4 (cont'd) Marks
c) Solve and graph the solution on a number line  5x+14>9 3
5x > -5
x > - |
e Gr—tr— —
- - 0
d) Find all positive integers which satisfy 13—-2x23 C L
[ -1x 2 S 'S 1z la+d
“1a2-10 o2 Lt
x ¢S g2

e) A rectan,
and solve it to find the dimensions of the rectangle.
T sz vt be w
fron lagfl B> wrS
5 P> [wrt TV !
P~ kw +w
’h—\ PEVE S R
P b =
V -~

il Ve~

Ol AMS‘ M

End of Paper

gle is Scm longer than it is wide. Its perimeter is 86cm. Write an equation

4

<

[




